
Monday Tuesday Wednesday Thursday Friday 
40 x 30 = 
 
4 x 3 = 
 
4000 x 3 = 
 
Calculate 2.3 x 100 = 
 
 
Calculate 209 ÷1000 = 
 
 
product of 300 and 3 
 
What is the value of the 
4 in this number? 
246,987 

 
 
Round 45,908 to the 
nearest thousand. 
 
 
 
Write  in Numerals  
XLIX 
      
 

70 x 30 = 
 
7 x 3 = 
 
7000 x 3 = 
 
Calculate 3.6 x 10 = 
 
 
Calculate 4006 ÷1000 = 
 
 
product of 5000 and 3 
 
What is the value of the 

9 in this number?        

246,987 

 
 
Round 45,908 to the 
nearest ten. 
 
 
 

 
Write in Numerals  
CCXLIX 
 

60 x 30 = 
 
6 x 3 = 
 
6000 x 3 = 
 
Calculate 30 x 10 = 
 
 
Calculate 510.4 ÷10 = 
 
 
product of 11 and 3 
 
What is the value of the 

6 in this number?        

246,987 

 
 

Round 45,908 to the 
nearest hundred. 
 

 
 
 
Write in Numerals  
CCXCIX 

90 x 30 = 
 
9 x 3 = 
 
9000 x 3 = 
 
Calculate 0.3 x 100 = 
 
 
Calculate 3300 ÷100 = 
 
 
product of 15 and 3 
 
What is the value of the 

8 in this number?        

246,987 

 
 
Round 45,908 to the 
nearest ten thousand. 
 
 
 

 
Write in  Numerals 
CD 

 

80 x 30 = 
 
8 x 3 = 
 
8000 x 3 = 
 
Calculate 1.8 x 1000 = 
 
 
Calculate 108 ÷100 = 
 
 
product of 200 and 30 
 
What is the value of the 

2 in this number?        

246,987 

 
 

Round 345,908 to the 
nearest hundred 
thousand. 
 
 
Write in  Numerals 
CDXCIX 

 



Calculate 15.06 - 9.67 = 

 
 
What are the factors of 
12? 
  

 
 
409mm = ________cm 
 
 
½ of 36 = 
 
 
 
¼ 0f 36 = 
 
 
 
¾ of 36 = 
 
 
 
 
 

Calculate 11.02 - 8.78 = 

 
 
What are the factors of 
27? 
  

 
 
1.06cm = ________mm 
 
 
1/3 of 12 = 
 
 
 
 
2/3 of 12 – 
 
 
 
1/5 of 20 = 
 
 
 
 

Calculate 2.9 - 0.91 = 
 
 
What are the factors of 
45? 
 
 
 
307cm = __________m 
 
 
2/5 of 20 = 
 
 
 
 
1/10 0f 120 = 
 
 
 
 
4/10 of 120 = 
 
 
 

Calculate 1.05 - 0.36 = 

 
 
What are the factors of 
50? 
 
 
 
14.04m = _________cm 
 
 
1/3 of 27 = 
 
 
 
 
2/3 of 27 =  
 
 
 
 
1/5 of 45 = 
 
 
 

Calculate 18.6 - 17.07 = 

 
 
What are the factors of 
36? 
 
 
 
12.84km = ________m 
 
 
3/5 of 45 =  
 
 
 
 
1/10 of 70 = 
 
 
 
 
6/10 of 70 = 
 
 
 
  

Total            /15 Total            /15 Total            /15 Total            /15 Total            /15 
 


